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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2.  The question paper is divided into two sections

3. Attempt any five questions. Selecting three from

section A and two from section B.

4. Simple calculator is permissible.

5 Answers may be written either in English or Hindj
1L

but the same medium should be used throughout th
e

paper.
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SECTION A
e §

(8) Write down the three major functions of
government in a mixed economy. Provide examples
o show that these functions often overlap in

Practice, (9)
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(b) What is meant by 'Incompleteness of markets' as
a reason of market failure. Explain with the help

of suitable diagram. (6)
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2. (a) Explain the provisioning of public goods in a general
equilibrium model and show how the economy will

attain efficient mix of public and private goods.

(9)
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(b) What does Second welfare theorem states for

welfare maximization?

(6)

FHET SEheAEr & fore BT weamr v @ Famn
27

3. (a) Define externalities. "The existence of externalities
distorts efficient market outcomes for the society

as a whole". Discuss. (7
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(b) How Pigouvian tax and Pigouvian subsidy schemes
brings equally efficient outcomes. Which

(8)

mechanism tax or subsidy is better?
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4. (a) Explain the role of elasticity of demand and supply
in distribution of burden of a product tax between

buyer and sellers. Are there any other factors

that influence the economic incidence of tax?

9)
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(b) Explain the concept of burden of tax. What is

meant by statutory and economic incidence of a

tax? (6)
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(a) First Welfare Theorem of Welfare Economicsg
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(b) Pareto optimality
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(c) Coase Theorem
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SECTION B
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(2) Elaborate the Mark up rule for setting price of

Petroleum Oil & Lubricant products and sharing

ate in context

9)

revenue space between Centre and St

With D K Srivastava's article.



4245 7

& & sNawwr & N D X YW Aot ok e
Sl W A Rl w9 sl @ ol wsw @ A
ToRE T AR A o (o0 W gy ey =y fereger oY

(b) What are the three important tools that the Central

bank can use to control the money supply? Discuss.

(6)
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7. Discuss the Recommendations of Fifteenth Finance
Commission with regard to nstrengthen cooperative
federalism, improve the quality of public spending and

help protect fiscal stability", (15)
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g What are the key reatures of Goods and Service
b ax?

How does GST satigly Fiscal Autonomy |
anc

Harmonization?
: (15)
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